2 N-200A SERIES

/"l/ml'(II{{II;{II /lll %

3-JAW WEDGE TYPE THROUGH-HOLE
POWER CHUCK(WITH ADAPTOR)

i

x\

lilltll

» 1.N-200AR! J 56 E{KASA B5.9AR! T o= # T 57 51

' More large bore : The largest bore in wedge type
power operated chucks.

= Model N-200A chucks are assembled with adaptor
for ASA B5.9 type A spindles.

it Twnn Paoy msioe BxEEAn XAND, SGEm) mwowr BB s SOUES mewn maen AEXHEE
Model TR SR w90 o pressare o ) KM gjinders THIT THC  (m)
N-205A4 @33 10 5.4 1784 3671 28.5 7000 7.8 0.020 M1036 HJO5 HJos5 @6-F135
N-205A5 @33 10 5.4 1784 3671 28.5 7000 9 0023 M1036 HJO5 HJos @6-F135
N-206A4 @45 12 55 2243 5812 28.5 6000 155 0.065 M1246 HJ06 HJos D15-0169
N-206A5 @45 12 5.5 2243 5812 285 6000 147 0062 M1246 HJO6 HJos D15-F169
N-206A6 @45 12 5.5 2243 5812 28.5 6000 17.3 0.073 M1246 HJ06 HJos D15-F169
N-208A5 @52 16 7.4 3558 9075 26.5 5000 258 0.190 M1552 HJ0O8 HJos @20-@210
N-208A6 @52 16 7.4 3558 9075 26.5 5000 25 0.184 M1552 HJ08 HJog @20-@210
N-208A8 @52 16 7.4 3558 9075 26.5 5000 29.3 0217 M1552 HJ08 HJog @20-@210
N-210A6 @75 19 8.8 4385 11319 27.5 4200 41 0370 M1875 HJ10 HJ10 @25-@254
N-210A8 @75 19 8.8 4385 11319 27.5 4200 38 0340 M1875 HJ10 HJ10 @25-0254
N-210A11 @75 19 8.8 4385 11319 275 4200 484 0.436 MI1875 HJ10 HJ10 @25-254
N-212A6 @91 23 10.6 5812 14990 27.5 3300 625 0.809 M2091 HJ12 HJ12 @30-@304
N-212A8 @91 23 10.6 5812 14990 27.5 3300 59.5 0770 M2091 HJ12 HJ12 @30-@304
N-212A11 @91 23 10.6 5812 14990 27.5 3300 69.9 0912 M2091 HJ12 HJ12 B30-@304
N-215A8 @117.5 23 10.6 7240 18335 27.5 2500 125 2255 M2511 HJ15 HJ15 @60-@381
N-215A11 @117.5 23 10.6 7240 18335 235 2500 118 2241 M2511 HJ15 HJ15 @60-@381
N-215A15 @117.5 23 10.6 7240 18335 235 2500 138 2822 M2511 HJ15 HJ15 @60-@381
N-218A8 @117.5 23 10.6 7240 18335 235 2000 178 4.830 M2511 HJ15 HJI15 @60-@450
N-218A11 @117.5 23 10.6 7240 18335 235 2000 171  4.464 M2511 HJ15 HJ15 @60-@450
N-218A15 @117.5 23 10.6 7240 18335 23.5 2000 191 5183 M2511 HJ15 HJ15 @60-@450
N-220A11 @180 23 10.6 9177 23861 30.6 1800 215 7.355 ML2816 HJ24-1HJ24-1 @120-@510
N-220A15 @180 23 10.6 9177 23861 30.6 1800 202 6.910 ML2816 HJ24-1 HJ24-1 @120-@510
N-224A11 @205 26 12 9177 23861 26.5 1400 332 18.199 ML3320 HJ24-1 HJ24-1 @150-@610
N-224A15 @205 26 12 9177 23861 26.5 1400 317 17.376 ML3320 HJ24-1HJ24-1 @150-@610
N-224A20 @205 26 12 9177 23861 26.5 1400 286 15.677 MI3320 HJ24-1 HJ24-1 @150-@610

REHBELMER, BTHITEM Subject to technology changes without prior information

FEER KA ETM Non-standard requirements can be made

g

O
=
>
-]
Ll

4 PAGE133

N




& I < B8 %

DRAULIC CHUCK S

$#5N-205-N-218 Serration Pitch 1.5 > N T == 2 0 0 S E R I E S
) HEN-220~N-224 Serration Pitch 3.0 Vliy’,"/{{l/‘;'{;”{q:”’!,{?{’!///
—F // lrre, / 2-JAW WEDGE TYPE THROUGH
ﬁ %jﬁéﬂi[{fﬁ///// A -HOLE POWER CHUCK
[ -
H[=|_L

O 1NT200BRER AR S EMHME, FARDASKAELR
MERE, MRS EsEEERR A, BB TR,

O 2.EN: 1.5mmx60° SBEikERO,

O 3%H, MeNEELEFHEDINBSISO,ASAB5-9, AR

;_’Ir s 2R,
¥ _,J. j | [T © All sliding surfaces are hardened and ground for accurate actual
. il running and long service repeatability. Lubrication nipple in each
xE L [ 1 base jaw.
Y ¥ © Basejaw:1.5mmx 60° serration.
v © Mounting : Adaptor mounting to fit with DIN, ISO, BS, ASA B5.
M 9 type A spindles.
E 120 x3pes : N-205 X
J [ B . 15 N-206-N-218 HEtiserration Pitch 1.5
) . 30 : N-220~N-224 4
A r'y
NT-205 %y
o
e AT AR R .0 - A - N O e P 2 a 2]
<= I| | = ~
N-205A4 135 71 110 14 15 63513 96 8255 155 3-M10 33 4 265 1975 775 16 6 2 10 20 25 M40x15 3-M6 45 31 54 Fig-1 & & b E bl F’i v
N-205A5 135 88 110 14 32 82563 82.55 10478 14 3-M10 33 4 265 1975 775 33 23 2 10 20 25 M40x15 6-Mi0 45 31 54 Fig-3 ¥ r
N-206A4 169 96 140 20 20 63513 104.78 8255 16 6-M10 45 5 32 2275 925 26 14 2 12 19 31 Ms5x2 6-MI0 60 37 73 Fig-2 pi- : —% O
N-206A5 169 91 140 20 15 82563 116 10478 16 6-M10 45 5 32 2275 925 26 14 2 12 19 31 Mshix2 3-M6 60 37 73 Fig-1 v t i . L g
N-206A6 169 111140 20 35 106.375 104.78 13335 16 6-M10 45 5 32 2275 925 46 34 2 12 19 31 Ms5x2 6-M2 60 37 73 Fig-3 \ 7
N-208A5 210 109170 25 23 82.563 133.35 10478 13 6-M12 52 5 387 29.75 1475 375 215 2 14 205 35 M60x2 6-Mi0 66 38 95 Fig-2 L/ " =M >
N-208A6 210 103170 25 17 106.375 150 13335 18 6-M12 52 5 387 29.75 1475 315 155 2 14 205 35 M60Ox2 3-M6 66 38 95 Fig-1 < B q
N-208A8 210 126 170 25 40 139.719 133.35 17145 24 6-M12 52 5 387 29.75 1475 545 385 2 14 205 35 M60x2 6-Mi6 66 38 95 Fig-3 - =
N-210A6 254 120220 30 25 106.375 17145 13335 18 6-M16 75 5 51 3375 1425 335 145 2 16 25 40 MEx2 6-M12 & 43 110 Fig2 mat TR Ceon evare BAEEAA e Siaiom) wmes KRB e EAMED @O mamr AEkiem m
N-210A8 254 113220 30 18 139719 190 17145 24 6-M16 75 5 51 3375 1425 265 75 2 16 25 40 M&x2 3-M8 9 43 110 Fig-1 Model | “hecce el | (Kgf) (Keh  Maxol | mexrem yg) K&'M2 cjinders  HG  HY (mm) —
N-210A11 254 145220 30 50 196.869 17145 235 28 6-M16 75 5 51 3375 1425 585 395 2 16 25 40 M85x2 6-M20 94 43 110 Fig-3 NT-205 @33 10 5.4 1189 2447 19.5 7000 6.8 0.017 M1036 HJO5  HJO5 HJ05
N-212A6 304 129220 30 25 106.375 171.45 13335 18 6-M16 91 6 613 4575 1575 33 10 2 21 28 50 Mi00x2 6-M12 108 51 130 Fig-2 NT-2068 @45 12 55 1495 3875 18.9 6000 12.8 0054 M1246 HJOB HJOB HJ0B
N-212A8 304 122220 30 18 139.719 190 17145 25 6-M16 91 6 613 4575 1575 26 3 2 21 28 50 MI00x2 3-MB 108 51 130 Fig-1 NT-208 @52 16 7.4 2366 5975 18.4 5000 22  0.163 M1552 HJO8  HJO8 HJ08
N-212A11 304 154220 30 50 196.869 17145 235 28 6-M16 91 6 613 4575 1575 58 35 2 21 28 50 Mi00x2 6-M20 108 51 130 Fig-3 NT-210 a75 19 8.8 2927 7546 18.4 4200 34 0306 M1875 HJ10  HJ10 HJ10 In
-U N-215A8 381 160300 43 33 139.719 235 17145 24 6-M20 1175 6 82 4525 1675 40 17 5 22 43 62 Mi30x2 6-M16 133 66 165 Fig-2 NT-212 @91 23 10.6 3875 9993 18.4 3300 55 0717 M2091 HJ12  HJ12 HJ12 m
> N-215A11 381 149300 43 22 196,869 260 235 28 6-M20 1175 6 82 4525 1675 29 6 5 22 43 62 Mi30x2 3-M10 139 66 165 Fig-1 NT-215 @117.5 23 10.6 4823 12236 153 2500 106 217 M2511 HJ15  HJ15 HJ15 -
G) N-215A15 381 184300 43 57 285.775 235 330.2 24 6-M20 1175 6 82 4525 1675 64 41 5 22 43 62 Mi30x2 6-M24 139 66 165 Fig-3 LIJ
m N-218A8 450 160300 43 33 139.719 235 17145 24 6-M20 117.5 6 82 79.75 1675 40 6 5 22 43 62 MI30x2 6-M16 139 66 165 Fig-2 B A B C D H J K M L N o O o} p alel 5| 7 u W X Y (D
N-218A11 450 149300 43 22 196.869 260 235 28 6-M20 1175 6 82 79.75 1675 29 6 5 22 43 62 M130x2 3-M10 139 66 165 Fig-1 Model ol Fhex] e [iningy (s o e <
a N-218A15 450 184 300 43 57 285.775 235 3302 24 6-M20 1175 6 82 7975 1675 64 41 5 22 43 62 Mi30x2 6-M24 139 66 165 Fig-3 NT-205 135 60 110 14 8255 15 4-M10x60 33 4 265 19.75 7.75 1 9 2 10 20 62 M40x15 45 31 54 m
L N-220A11 510 169380 60 41 196.869 330.2 235 30 6-M24 180 6 1125 69 23 52 29 5 25 38 65 Mi80x3 6-M20 206 73 180 Fig-2 NT-206 169 81 140 20 104.78 16 6-M10x80 45 5 32 2275 925 11 -1 2 12 19 50 MS55x2 60 37 73
N-220A15 510 155380 60 27 285.775 330.2 3302 33 6-M24 180 6 1125 69 23 38 15 5 25 38 65 Mi90x3 3-M12 206 73 180 Fig-1 NT-208 210 91 170 25 133.35 20 6-M12x90 52 5 38.7 29.75 1475 145 _15 2 14 205 40 Me0x2 66 38 95
g% N-224A11 610 186520 60 45 196.869 4636 235 28 6-M24 205 6 1399 875 245 61 35 5 25 38 65 M15x3 6-M20 230 73 180 Fig-2 NT-210 254 100 220 30 17145 22 6-M16x100 75 5 51 33.75 1425 85 _qp05 2 16 25 35 M85x2 94 43 110 .
>£3 N-224A15 610 183520 60 42 285775 4636 3302 33 6-M24 205 6 875 875 245 58 32 5 25 38 65 M215x3 6-M24 230 73 180 Fig-2 NT-212 304 110 220 30 17145 23 6-M16x110 91 6 61.3 4575 1575 8 15 2 21 28 31 M100x2 108 51 130 a
| N-224A20 610 166 520 60 25 412.775 463.6 463.6 35 6-M24 205 6 1399 875 245 41 15 5 25 38 65 M215x3 3-M10 230 73 180 Fig-1 NT-215 381 133 300 43 235 35 6-M20x135117.5 6 82 4525 16.75 7 16 5 22 43 23 M130x2 139 66 165 N
T REAHELHRA, BABTEAN Subjecttotechnalogy changeswithout prior Information REFHELHER, MABITHEM Subject to technology changes without prior information b
AEMBRHAH Non-standard rsquirements can be made AEARE KT Non-standard requirements can be made




& I < B8 7

OMBTED

> NIT-200 SERIES > NHT SERIES

mnsepszs) _ iy
VB COMMMM . 3 0 =0 S MMM | 35555

DRAULIC CHUCK S

it Serration Pitch 1.5 = P
. (i
N é; OB ETRRR Z TSR, REMRKE,

) 2. KB RMASA B5.9 ARV T B E MR R .

" =Y C3KRHERARAEGEAYE, FERDENEREELRWERE,

g 5 ] U4 7 O R A
' Gripping of round or irregular workpiece does not need to change

the chuck.

" The chucks are designed according to ASA B5.9 type A spindle.

© The chucks are made from high grade alloy steel. All sliding

surfaces are hardened and ground to increase running accuracy
and longer service life.

CANIT200RRERABHREEMAME, MERIENERAELEWERE, NESOEBERM AL, HiEE

L FEIN, HE# Serration Pitch 1.5
2.8 1.5mmx60° SEH RO, Flg! X
3% RAHEBREIFADINBSISOASABS-9, AR THAEA, ]
© 4-jaw through-hole power chuck (adapter excluded) = a
= All sliding surfaces are hardened and ground for accurate actual running and long service repeatability. _7_ = | a
Lubrication nipple in each master jaw. it Fﬂ O
© Master jaw : 1.5mm x 60° serration. //E 7
' Mounting : Adaptor mounting to fit with DIN, ISO, BS, ASA B5.9 type A spindles. = s = g
B BAKSN  BAEAES " QT =t : >
mx SLAS R NSEAD S0 AN MRSy mames A5, mee NN seor memy pesven bt 0[] [P
da(mm)  (mm) (mm) (kgt) (Kgh  MPa(kgr/cma) (kg) *9"'M2  cylinders  HC HJ (mm) = ; . 2 q
NIT-206 @45 12 55 2243 5812 28.5 4500 13.7 0.058 M1246 HC06 HJO6 @15-J169 _z| . L] m
NIT-208 @52 16 7.4 3558 9075 26.5 3600 24 0177 M1552 HC08 HJ08 @20-@210 | 9}; —
NIT-210 @75 19 8.8 4385 11319 27.5 3200 36 0.324 M1875 HC10 HJ10 ©@25-J254 L E | LM 30°
NIT-212 @91 23 10.6 5812 14990 275 2700 58.5 0.763 M2091 HC12 HJ12 @30-3304 J ” B
NIT-215 @117.5 23 10.6 7240 18355 23.5 1900 114 2.331 M2511 HC15 HJ15 ©@60-2381 J_- B >
NIT-218 @117.5 23 10.6 7240 18355 23.5 1500 122 32 M2511 HC15 HJ15 ©@60-2381 '\
-U NIT-224 @205 26 12 9177 23861 26.5 1000 264 145 MI3320 HC24-1HJ24-1 3150-@610 O’)
> mx WA UEDR DAL MU0 BENGG L aeams 22, AR gen e
() | BN Rl e ) S BN B T (i B e e e R Bs B (L B Model ~ Mrn® “mm @@m =K =® =% =K =R =R P™ (kg) cyinders  HC I
m NHT-208A5 52 16 7.4 2243 1495 5812 3875 17.2 121 3500 255 M1552 HC06 HJ06 0
e NIT-206 169 81 140 20 104.78 16 4-M10x80 45 5 32 2275 925 11 -1 2 12 19 31 M55x2 60 37 73 NHT-208A6 52 16 7.4 2943 1495 5812 3875 17.2 121 3500 247 M1552 HCO6 HJ06 <
NIT-208 210 91 170 25 133.35 20 4-M12x90 52 5 387 29.75 1475 145 -15 2 14 205 35 M60x2 66 38 95
w NIT-210 254 100 220 30 17145 22 4-M16x100 75 6 51 33.75 1425 85 -105 2 16 25 40 M85x2 94 43 110 n-
c’ NIT-212 304 110 220 30 171.45 23 4-M16x110 91 6 61.3 4575 1575 8 -15 2 21 28 50 M100x2 108 51 130 e NIlO O p p U 22[F
OB NIT-215 381 133 300 43 235 35 4-M20x135 1175 6 82 4525 1675 7 -16 5 22 43 62 M130x2 139 66 165 Moger A B C D E P H G K LM e max min max min @RS T max V. WXY Th
_:.ﬂ NIT-218 450 133 300 43 235 35 4-M20x135 1175 6 82 79.75 1675 7 -16 5 22 43 62 M130x2 139 66 165 NHT-208A5210 113 170 20 23 82.563 133.5104.78 13 6xM1252 5 41.8 34 7.5 37.5 21.5 2 12 20.5 32 M60xP2.0 6 xM10 66 37 73 Fig-2 u
- NIT-224 610 147 520 60 463.5 35 B8-M24x150 205 6 1399 875 245 16 -10 5 25 38 65 M215x3 230 73 180 NHT-208A6 210 107 170 20 17 106.375 150 133.3517 6xM1252 5 41.8 34 7.5 31.5 155 2 12 20.5 32 M60xP2.0 3xM6 66 37 73 Fig-1 bty |
m

REEMERNERN, BABTEM Subject to technology changes without prior information

=BT i ; it .
FHEE R WTETH Non-standard requirements can be made REFEHELHMEF, BASITEM Subject to technology changes without prior information

IR SKATAT# Non-standard requirements can be made




-
>
")
m
'
o0

ISLVINO
H

OATEl

> NB-200ASERIES

WEETENEET T 3-JAW WEDGE TYPE EXTRA LARGE

JL o R
/ﬁ::f;;{f—;////)//////////j THROUGH-HOLEPOWER CHUCK

7
///”},; (WITH ADAPTOR)

O 1 BXEBEILE. AExESR, ARXAZEFILE,

O 2. R-HERIRE20%: tk—kKkE, AE20% @ik, ki REEAL
TR,

© 3.NB-200AZBYzzBH & {KASA B5.9 AR T i M AR AT

) 4.NB-200AR'E AR ABHRASMHAE, MMERDEMGEREELRS
ERE, MRSEEEERM A,

' More large bore:The largest bore in wedge type power operated chucks.
20% large bore:Approximately 20% higher speed, higher gripping force
and larger bore compared with regular chucks.

Model NB-200A chucks are assembled with adaptor for ASA B5.9 type

A spindles.

Model NB-200A chucks are manufactured form high grade alloy steel.
= All sliding surfaces are hardened and ground for accurate actual running

and long service repeatability.

»,149 Serration Pitch 1.5

& I < B8 %

DRAULIC CHUCK

> VA SERIES
Ty

3-JAWWEDGE TYPE NON THROUGH
HOLE POWER CHUCK(WITH ADAPTOR)

O A SRR BASASDINLE RS T 6,

© High performance :Similar high performance with
N series.

2 Chuck mounting screws :Metric or UNC socket
head cap screws are supplied for installing the
chuck to the spindle.

o Alternative spindle adaptors :ASA or DIN adaptors
can be supplied as requested.

#H#& / Specification
myt HER  NORME) SR gaknhe) BXERERY gy BE e SEHES SAET ST EKHEE

y ; T
— S ‘,,
[s2]
% g E! q ¢
= Q
R~ A
A =z _/
u LA
1943 15 * !
Y
L Q@
[ A
L Y
Y
v i "
Kl b
J-% B
m EAEE  HRGR MTR(EE) BASEEN Bikih BRERMEN o BE e, ESAES  EAST  EAEN
Th hole Pistonstroke Jaw stroke dia MaxDBpull Max clamping Max oil pressure e Weight Kot Matched Matched  Matched
Medel dr?(gn:lm) (mm) (mm) [kgt) force (Kgf) (kgffcm?) BT e T WS cylinders HC HJ
NB-306A5 @52 12 5.4 2200 5700 18.4 6000 14 0.06 M1552 HCO06 Hj06
NB-208A6 266 16 7.4 3500 8973 20.5 4600 24 0.14 M1868 HCO08 HJ08
NB-210A8 @78 19 8.8 4300 11000 275 4200 37.4 04 M1878  HC10  HJ10
NB-212A11 @122 23 10.6 5800 15000 20.5 3200 65 095 M2511 HC12 HJ12
AR c NS ON SoN p S Sp u X1
Mty | & (B |y (D (B E | [E HE A R L BE L m i s v B B R T e || e X X e

NB-306A5 170 91 140 20 15 82.563 116 104.78 145 6xM10 52 5 34.3 1825 925 26 14 21220 32 M60x20 3xM6 65 16 36 65 M8
NB-208A6 210 103 170 25 17 106.375 150 133.35 19.5 6xM12 66 5 42 23.75 11.75 31.5 155 2 14 20 37 M74x20 3xM6 80 16 45 80 M8
NB-210A8 254 113 220 30 18 139.719 190 17145 24 6xM16 78 5 53 33.75 1425 265 7.5 2 1625 42 MB7x2.0 6xM8 94 16 60 102 M10
NB-212A11 315 134 300 30 22 196.869 260 235 28 6xM20 122 6 74.2 36.25 1275 42 19 2 21 28 52 M135x2.0 3xM10143 20 60 138 M10

FRRBMERHER, BMABITEM Subject to technology changes without prior information
FIMAE R ATAT M Non-standard requirements can be made

odel CERAe lmpmpds WLSEA Vogkphe Nedmmn Miian Ty s bt Maged Wepw v
V-208A5 20 9.2 1835 5253 26.5 5200 132 0.05 MS105C HJO6 HCO6 @18-@165
V-206A6 20 9.2 1835 5253 26.5 5200 158 0.059 MS105C HJO6 HCO06 @18-@165
V-208A5 21 9.7 2549 7648 25.5 4500 258 0.154 MS125C HJOB HCO8 @26-@210
V-208A6 21 9.7 2549 7648 25.5 4500 25 0149 MS150C HJO8 HCO08 @26-@210
vV-208A8 21 9.7 2549 7648 255 4500 29.3 0.175 MS200C HJO8 HCOB @26-@1210
V-210A6 25 8.8 2957 11013 28.6 4000 405 0.35 MS200C HJ10 HC10 @26-@254
V-210A8 25 8.8 2957 11013 28.6 4000 375 0.33 MS200C HJI0 HC10 @26-09254
V-210A11 25 8.8 2597 11013 28.6 4000 47.9 0.417 MS200C HJI0 HC10 @26-@254
V-212A8 30 10.5 4181 15907 275 3300 665 076 MS200C HJ12-1HC12-1 @26-@304
V-212A8 30 10.5 4181 15907 275 3300 644 075 MS200C HJ12-1HC12-1 @26-@304
V-212A11 30 105 4181 15907 275 3300 72.9 0.888 MS200C HJ12-1HC12-1 @26-@304
V-215A8 35 16 8362 25391 32.6 3000 115 2.05 MS200C HJ15-1HC15-1 @8-@381
V-215A11 35 16 8362 25391 32.6 3000 108 1.92 MS200C HJ15-1HC15-1 @e8—@381
V-215A15 35 16 8362 25391 32.6 3000 128 2.281 MS200C HJ15-1HC15-1 @e8-@381
V-218A8 35 16 8362 25391 32.6 2700 134 3.35 MS200C HJ15-1 HC15-1 @130-@450
V-218A11 35 16 8362 25391 32.6 2700 122 3.05 MS200C HJ15-1HC15-1 3{30-@450
V-218A15 35 16 8362 25391 32.6 2700 143 3575 MS200C HJ15-1 HC15-1 @{30-@450
V-221A11 35 16 8362 27838 32.6 1940 200 6.58 MS200C HJ24-1HC24-1 @65-@530
V-221A15 35 16 8362 27838 32,6 1940 193 6.37 MS200C HJ24-1 HC24-1 @ig5-3530
V-224A11 35 16 8362 27838 32.6 1760 239 7.6 MS200C HJ24-1HC24-1 @152-@610
V-224A15 35 16 8362 27838 32.6 1760 232 7.38 MS200C HJ24-1HC24-1 @152-03610
V-232A11 35 18.6 8362 27838 32.6 600 382 30 MS200C HJ24—1 HC32-1 3100-@810
V-232A15 35 18.6 8362 27838 32.6 600 375 28 MS200C HJ24-1HC32-1 3100-@810

REFEHELHOER, BMASFITHEHA Subject to technology changes without prior information
IR E K ATAT# Non-standard requirements can be made

O
=
>
-]
Ll

PAGE 139

~




B K HE A

DRAULIC CHUCK

> VT&VITSERIES

Wy

il

Hi#EV-206~V-218 Serration Pitch 1.5

Fig-2 , Hlk##iv-206~V-232 Serration Pitch 3.0 O 1 EA R B O A T S MR S A 5 2 S AR T4 R

oz Spe P o Fig-1 e Kl T 2-JAW AND 4-JAW WEDGE TYPE . BRSO,

: &l> I | NON THROUGH HOLE POWER CHUCK o 2. ATRVEVARSI B,
L) L  BEARTHIEAVE K,

== > I#h‘ & 4 BMRERVAIRE,
= @F ) o]~ _@3_ © Suitable for special applications :Used to hold special shape
5 " : 1 work pieces, such as square bar or flanges which is not possible

r | = clamping by 3 jaw chuck.

© Interchangable with V or VA series.
' Basic dimensions are the same as V type.
© High performance as V type.

s/

oH

Serration Pitch 1.5

< Q| -
519 ;?f:L i . . -
& fe—— s ® * M-
LLH — I %
> / (K
PVARRE o &
Mii ; K = — {g(
) JI— B > 15'=V-206-V-218 \}\L
30°=V-221~V-232 < @ o &
|1_%
/
k / Sl
B
L (e B n) NE| RS R (e | BER (i) 2080 (80 8 0 T B i st sl ISR B o ) o e
V-20BA5 165 84 140 20 15 82563 116 104.78 14 6-M10 21 5 387 1525 925 896 69.6 4 12 36 31 Mi6x20 3-M6 34 39 73 Fig-1 Mg:g):g | el nicl.nd iﬁﬁ%ﬁﬁﬁ’ ﬁ;ﬁﬁ%mggn ﬁggi ‘:ﬂ?‘:‘;‘ “glglm l’;ﬁﬁ :":Miggﬂ ma gﬂm gﬁyfmn; O
V-206A6 165 104 140 20 35 106375 104.78 133.35 16 6-M10 21 5 387 1525 9.25 69.6 496 4 12 36 31 Mi6x20 6-Mi2 34 39 73 Fig-3 {nm) (i tkar forge e ey, (kg) shede | e HJ (mm)
V-208A5 210 103 170 25 23 82563 133.35 104.78 13 6-M12 25 5 46.85 2225 11.75 109 88 5 14 36 35 M2x25 6-M0 38 41 95 Fig-2 VT-206 20 20 20 3569 17.3 5200 12 0045 MRIOSC Hjoe HCoe  @18-@165 g
V-208A6 210 97 170 25 17 106375 150 133.35 18 6-M12 25 5 46.85 2225 11.75 115 94 5 14 36 35 M0x25 3-M6 38 41 95 Fig-1 VT-208 21 21 21 5098 16.3 4500 22 043 NiPS HJi8 HCO8  ©28-@210 >
V-208A8 210 120 170 25 40 139.719 133.35 171.45 24 6-M12 25 5 46.85 2225 1175 92 71 5 14 36 35 MX0x25 6-Mi6 38 41 95 Fig-3 vT-210 25 25 25 7342 19.4 4000 335 029 MilF HJO HCI0  @24-@254
V-210A6 254 109 220 30 25 106375 17145 133.35 18 6-M16 34 5 51.1 3075 11.25 133 108 5 16 36 40 Mx25 6-M12 45 46 110 Fig-2 VT-212 30 30 30 10605 18.4 3300 58 07 MNRC HJ12-1 HC12-1 @18-@304 =
V-210A8 254 102 220 30 18 139.719 190 171.35 25 6-M16 34 5 51.1 30.75 1125 140 115 5 16 36 40 M20x25 3-M8 45 46 110 Fig-1 viT-212 30 30 30 15907 275 2800 64 078 MRIZC Hute-1 HC12-1 @18-0304 m
V-210A11254 134 220 30 50 196.869 171.45 235 28 6-M16 34 5 51.1 3075 11.25 108 83 5 16 36 40 M20x25 6-M20 45 46 110 Fig-3 vT-215 35 35 35 16927 217 3000 1006 1.7 MS200C HJ15-1 HC15-1 @68-@381 .
V-212A6 304 125 220 30 25 106.375 171.45 133.35 18 6-M16 34 6 61 4875 1275 138 108 5 18 36 50 M20x25 6-Mi2 50 54 130 Fig-2 viIT-218 35 35 35 25391 32.6 2300 119 2975 MS200C HJ15-1 HC15-1 @130-@450
V-212A8 304 118 220 30 18 139718 190 171.45 25 6-M16 34 6 61 4875 1275 145 115 5 18 36 50 M20x25 3-M8 50 54 130 Fig-1 VIT-224 35 35 35 27838 32.6 1520 228 7.3 MS200C HJ24-1 HC24-1 @152-@610
V-212A11304 150 220 30 50 196869 171.45 235 28 6-Mi6 34 6 61 48.75 1275 113 83 5 18 36 50 M20x25 6-M20 50 54 130 Fig-3 VIT-232 35 35 35 21924 32.6 920 400 30 MS200C HJ24-1 HC32-1 @100-@810
V-215A8 381 141 300 43 33 139719 235 171.35 24 6-M20 - 6 775 5025 2325 71 36 2 255 55 62 M0x35 6-Mi6 60 63 165 Fig-2 -
U V-215A11381 130 300 43 22 196869 260 235 28 6-M20 - 6 77.5 50.25 235 82 47 2 255 55 62 M30x35 3-Mi0 60 63 165 Fig-1 BX o B ¢ D H J K L m N 0 0 p P 9 R s T U W X Y <
> V-215A15381 165 300 43 57 285775 235 3302 24 6-M20 - 6 775 5025 235 47 12 2 255 55 62 M¥0x35 6-M24 60 63 165 Fig-3 sl Hies Duias) | e A =
G) V-218A8 450 141 300 43 33 139719 235 17145 24 6-M20 - 6 108 5025 235 59 24 2 255 55 62 M30x35 6-Mi6 60 63 165 Fig-2 VT-206 165 74 140 20 10478 14 4-M10x70 21 5 387 1525 9.25 1046 846 4 12 36 31 MI6x20 34 39 73 Ll
Il V-218A11450 130 300 43 22 196869 260 235 28 6-M20 - 6 108 5025 235 70 35 2 255 55 62 M30x35 3-Mi0 60 63 165 Fig-1 VT-208 210 85 170 25 133.35 20 6-M12x85 25 5 46.85 2225 11.75 132 111 5 14 36 35 M20x25 38 41 95 0
V-218A15450 165 300 43 57 285775 235 330.2 24 6-M20 - 6 108 5025 235 105 70 2 255 55 62 M30x35 6-M24 60 63 16% Fig-3 VT-210 254 89 220 30 171.45 23 6-M16x85 34 5 51.1 3075 11.25 158 133 5 16 36 40 M20x25 45 46 110
~ V-221A11530 146 380 60 27 196869 330.2 235 30 6-M24 - 6 85 935 235 70 35 B 25 55 65 M30x35 6-M20 60 76 180 Fig-2 VT-212 304 106 220 30 17145 23 6-M16x105 34 6 61 4875 1275 163 133 5 18 36 50 M20x25 50 54 130 <
- V-221A15530 146 380 60 27 285775 330.2 3302 34 6-M24 - 6 85 935 245 70 35 8 25 55 65 Mix35 3-Mf2 60 76 180 Fig-1 VIT-212 304 106 220 30 17145 23 6-M16x105 34 6 61 4875 1275 163 133 5 18 36 50 M30x35 50 54 130 o
= V-224A11610 146 380 60 27 196869 330.2 235 30 6-M24 - 6 125 935 245 70 35 8 25 55 65 M30x35 6-M20 60 76 180 Fig-2 VT-215 381 114 300 43 235 29 6-M20x115 6 775 5025 2325 104 69 2 255 55 50 M30x35 60 63 165
OB V-224A15610 146 380 60 27 285775 330.2 330.2 34 6-M24 - 6 125 935 245 70 35 8 25 55 65 M30x35 3-Mi2 60 76 180 Fig-1 VIT-218 450 114 300 43 235 29 6-M20x115 6 108 50.25 2325 92 57 2 255 55 50 M30x35 60 63 165
_:.ﬂ} V-232A11810 156 380 80 27 196869 330.2 235 30 6-M24 - 6 104.8 1965 255 47 12 9 25 60 74 M30x35 6-M20 60 97 210 Fig-2 VIT-224 610 125 380 60 330.2 31 6-M24x115 6 125 935 245 97 62 75 25 55 65 M30x35 60 76 180 u
— V-232A15810 156 380 80 27 285775 330.2 330.2 33 6-M24 - 6 104.8 196.5 255 47 12 9 25 60 74 M30x35 3-Mi2 60 97 210 Fig-1 VIT-232 810 135 380 80 330.2 26 6-M24x115 6 1049 1965 255 74 39 9 25 B0 74 M30x35 60 97 210 'S
T FRRBMERHER, BMABITEM Subject to technology changes without prior information REFEHELHOER, BMASFITHEHA Subject to technology changes without prior information f b
AR ERATRTH Non-standard requirements can be made AR ERATRT M Non-standard requirements can be made




¢yl 39Vd

2

ISLVINO
H

O i

> V SERIES

L e v

/.9/-./.— 5/." ////ﬁ

3\

'/ LARGE WEDGE TYPE NON THROUGH HOLE

" POWER CHUCK (WITHOUT ADAPTOR)

C1ERTEABIN, NESMEZ T,

C2REAIEHEBER, MEHHELE, BEFIELER,

O B EARHEEABERITEDRE, TRFARIRARNITH,

» Chucking operations of very large components external
orinternal clamping.

0 Suitable for vertical lathe, due to the front protection of

slide way.
© Master jaw with manual radial setting function.

VIT

¥
o”%l_ j =
n] g}
100 < N ]
=
2| ¢| e
Elqnl
__E < 270 > 223
762
v :_L = 762, 62, < » 1
{0 ] 3o
; — 0
> ‘5903 i00g Jq-:_'
125 145 140 ‘83'
Bl Softjaw HC40-1 Hardjaw HC40-1
EAT FEGTE (BB ) BAfiFgh s|XAERREH HE biii=giii) i STEM =¥
B jlt!! il Radial Jaw Stroke  Max DB pull MExng;aqrﬁﬁg Max ol pressure ﬁgﬁmﬁ Weight fﬁﬁ Matched Eaichad ek
Model aws " (mm) +(Man(ur;al.lr:)ettlng) [kgt) force (Kgf) (kgffom?) B Syl s cylinders HJ HC
40" V-240 3 57 23+ (30) 180 300 i%g 630 645 B2 MS250C HJ40-1 HC40-1
VIT-240 4 550 700 89
50" V-250 3 550 890 168
VIT-250 4 57 23+ (30) 180 320 4258 400 940 177 MS250C HJ40-1 HC40-1
VE-250 6 360 971 183
63" VIT-263 4 300 1700 518
60 24+ (40) 200 360 46.9 MS250C HJ40-1 HC40-1
VE-263 6 280 1800 548
79’ VE-279 6 60 o4l 40 200 360 169 230 2850 1350 MS250C HJ40-1 HC40-1
b D N p p
Modal A B C e H J K L M et (6] max  min Q R S T U
40" V-240
1005 180 520 502 463.6 108 M24 M52x1.5 8 457 30 59 2 4 7-M24 19 85 72
VIT-240
50" 3V-250
VIT-250 1250 180 520 623 463.6 108 M24 M52x1.5 8 563 30 59 2 4 10-M24 19 85 72
VE-250
63" VIT-263
1600 220 720 796 647.6 144 M30 M52x15 8 738 40 82 22 6 13-M24 22 110 72
VE-263

79" VE-279 2000 238 720 996 647.6 159 M30 M52x1.5 8 914 40 100 40 6 17-M24 22 110 72

REHNERMHER, BAFITHEM Subject to technology changes without prior information
E4EFE K AT Non-standard requirements can be made

& I < B8 7

DRAULIC CHUCK

>DV/DN SERIES

Y,
[T —

I/I)I;/;’ }3‘,/,;}}/ /ﬁlfi/%lﬁlylﬁyl / VERTICAL AND VERTICAL/HORIZONTAL

STATIONARY POWER CHUCKS

O EATFIN., SHEREFLTE.

2B EHEBRREAFTEELRE, WM
RIGHEE, FETHENMIT T,

©) Suitable for vertical milling and drilling operations.

© With large through-hole, Vertical / horizontal power

chucks does not only clamp the long workpiece but
also the horizontal holding.

A\

N ahAd | "
aAB % n-l
| ] i
J ‘j%; o F =
4N . |_:\
| 2-31 | i A i
_ ' oA5 (6")  oA5(8") = —lg_ K j‘t_ti\ \ ] —I'[|1T|-|_|g_

il ES%;;HED*% FEEMBE Eff.piston area cm® HEEE{TAE (mm) BABFES Max DB pull(Kgf) “;ieiglm ﬁ%ﬁfgﬁg ]
Model (mm) $E Push(cm®)  $iffl Pull(cm?)  Pistonstroke  j&mIKN (kgf)  Hi#IKN ( kgf) (Ka) ( kgffem’ ) chucks
DV-6 @115 104 78.5 20 1900 1400 12 20 V-206

V-208

DV-8 155 187 148.6 21 3600 2800 21 20 V-210

V-212

DN-8 5 148.6 148.6 1l 2800 2800 28.5 20 N-208
BIst p U 2xE

Model Al A2 A3 A4 A5 A6 B1 B2 B3 L1 L2 H K max max S S2 83 U Ref

DV-6 @220 168 140 55 @200 49 16 655 55 38 45 104.78 12-M10x16L 18 -2 PT1/4’ 7.6 2-@15 M16xP2.0 Fig-1
DvV-8 290 210 170 70 242 58 24 86 55 23 65 133.35 12-Mi12x18L 20 -1 PT1/4” 55 2-16 Mi16xP2.0 Fig-1
DN-8 293 213 170 70 242 52 24 100 5.5 325745 133.35 12-M12x18L 30.4 13.4 PT1/4” 16 4-17 ME0xP2.0 Fig-2

REHHEMMMER, BAZBTIHEM Subject to technology changes without prior information
EEFE R AT Non-standard requirements can be made

S

O
=
>
-]
Ll

PAGE 143




& I < B8 %

DRAULIC CHUCK

oM ATEl

>CR SERIES
5 e

>CRA SERIES

COLLET CHUCKS FOR SHORT
TAPER MOUNT

COLLET CHUCKS FOR CYLINDRICAL
CENTER MOUNT

O 1 EREEAREREEEE, EAFNC/CNCERMIEHM,

O 2B R REBTLETERER,

) BRIk TIERAR B R~ @ BB & R 3

© Collet chucks with bayonet catch are mainly used for chucking bar
work on NC / CNC lathes.

© The bar can be fed in through the chuck.
© Profiles can also be chucked with the appropriate collets.

O 1. EREEAREFHIEEE, #HA FNC/CNCERNT#H# .
O 2 BT HE AR B TR BRI FLAE AT A RHESE L

G O 3R TIERARE R~F A2 @ & H k.

- Collet chucks with bayonet catch are mainly used for chucking
bar work on NC / CNC lathes.
© The bar can be fed in through the chuck.

Clamping position | “
=] - |l ] 4
-

Profiles can also be chucked with the appropriate collets.

oA
aF
aE
G

aH

REEMERNESN, BABTHEM Subject to technology changes without prior information
EIRFE R FTETH Non-standard requirements can be made

REREHELHER, BMASFITHEHA Subject to technology changes without prior information
AR ERATRT M Non-standard requirements can be made

Yy e
it 1)
L [ o
& EREE k BATH >
oas _ Wetheisonde Barapacvinm _SSSiESoe Wegn  marosmiioiia) " “?T&nggm ek RPN TS MALH  SHEMEGMM)  EmGRmm  BB(kg)  Bxwemn o BXEES O pagge -]
T o 5 7 5 25(2549) 55(5608) 6,000 Model Matchedspindle ~ BarCapacity ~  SleeveStroke ~ Weight  Max DB pull KN(kgf) ket 0 MaxRPM
CR60-170 170 60 7 115 30(3059) 65(6628) 5,000 CR26A4 A2-4 26 5 45 20 (2039) 44 (4486 ) 7,000 m
CR60-220 220 60 7 15.5 30(3059) 65(6628) 5,000 CR30A4 A2-4 30 5 4.1 20 (2039 ) 44 (4486 ) 7,000 —
CR42A5 A2-5 42 7 6.2 25 (2549 ) 55 (5608 ) 6,000
B Ah6) B c D - G H g Pl " . . CR42A6 A2-6 42 7 8.2 25 (2549 ) 55 (5608 ) 6,000
Model CR52A6 A2-6 52 7 12.2 30 (3059 ) 65 (6628 ) 5,000
CR42-140 155 114 100 23 133.35 MB6xP1.5 66 M55xP20 25 18 6 119 3-M10 3.1 CR60A6 A2-6 60 7 13 30 (3059 ) 65 (6628 ) 5,000 To)
O CR60-170 185 139 130 30 133.35 M9OxP15 80 M74xP20 30 18 6 179 6-M12 3.1 CR80A8 A2-8 80 7 21 35 (3568 ) 73 (7443) 4,000 <
> CR60-220 235 141 130 32 17145 M9OxP15 80 M74xP20 30 20 6 1909 6-M16 3.1 m
o ’ R A B @ D E F G H Jmax k N P T
RS RAENS EELEE Model (D
m DIN 634333 &5
s _ ) CR26A4 112 1035 85 30 8255 63.513 M50xP1.5 45 M40xP15 15 217 3-Mio 23 <
' HF# [E / Clamping range CR30A4 112 1035 85 30 8255 63.513 M50xP15 45 M50xP15 15 217 3-M10 23 (a
h CHUCK MULTIBORE SPRING COLLET CR42A5 135 124 100 27 104.78 82.563 M66 x P1.5 60 M55 x P2.0 25 274  4-M10 3.1
M o oo o 0 0 o o0 OO et = e e e
= CR42 M-673 42 36 30 173E/4728 36 30 : : : : : :
>0 R B R R R R = Sirinig Callel i Bre ol CRB0A6 170 145 130 27 13335 106375 M90xP15 80 M74xP20 30 299 4-Mi12 3.1 a
; CR80A8 220 170 156 35 17145 139719 M114xP20 99 M90xP2.0 275 324 6-M16 6.1 e




& I < B8 %

DRAULIC CHUCK S

> MK SERIES
o Wy
Wikttt

ENg w/,;// Al
s \\ R HIGH SPEED AND SHORT THROUGH
S HOLE ROTARY HYDRAULIC CYLINDER
= =) 1 CUNEER. REME0%, BEENHYLEETRE, &
A | —Ej Eimmﬁﬁo
i — 2 REMWE, AWFEIEREE, RERREEHER, BA
—E RIR$F o
S i — L O OFEIS, REMEHEYUBMER,
’_\/7 . = The compact hydraulic cylinder which is shorten the length about
| 30% and light weight can reduce the spindle loading while running
\/H_ in high speed.

© Built-in check valve in safety auto lock and pressure relief valve in
case of power failure occurs.
© New model developed for rear locking installation.

W U V.
EL Al B1 1
P, L r 6-Z1
apR = %i’% '
& Hip e
i : : o
s\fe - § EE = .-A"x 2 olu|Elalo B a —
& B - g§§§ . ay =] eegeslg - :
4-Q1 ? T : » oo
H B O
= L. N_12-F1 4 ] g
] I o, & W
e - >
PT1 K1 —
MK1775 I
L Eﬁ!mié;!; 7&ZET Eff piston area cm’ PEE{;E@ K HATIES Max DB pull ( kgf ) ﬁkﬂﬁim&ﬂ SEEmE s whE - ER I I I
oil pressure Total Leakage Weight —
Model (mm)  #E@Pushem) HMPUlEm)  (mm)  HERIKN (kgf)  HEIKN (kgf) (kgcfcmﬁ MaxRPM  kgem2 O(TEO08 (LN
MK-1246 128 102.6 91.4 16 43.6(4466) 38.9(3967)  4.5(45.9) 8000 0.017 3.1 8.6
MK-1452 145 133 122.6 22 26.5(5761) 52.1(5313) 4.5(45.9) 6500 0.028 3.9 12
) MK-1775 170 166 152 25 70.7(7209)  64.7(6587 4.5(45.9 5500 0.060 45 178
_U Spring Collet Multi-Bore Collet ¢ ) ¢ ) ';
A v v woow o
> Tk C D E F G H R IS (NS A I T (Y O e e T
G) %45 %@ / Clamping range MK-1246 162 147 130 75 65 M55x2.0 46 40 58 64 85 116 120 120 13 -3 44 28 8
m MK-1452 184 165 140 80 70 MB0x20 52 40 66 72 96 135 130 130 19 -3 47 25 (D
- ELCE MR SEiHaEIRE MK-1775 212 195 160 105 90 M85x20 75 46 71 98 121 164 160 157 22 -3 50 25 <
S NO. CAT.NO. 0 O O CAT.NO. o O O (a
o ke sy #a aE 1 ABIEw, o 2 I i Al N (61| e FI GT H1 J1 KI Lt MIMI NI P1 Q RISt TIUI W Xt Yl zt
o CR30 M-669 30 26 21 163E/4249 30 26 21 ode
gﬂ CR42 M-673 42 36 30 173E/4728 42 36 30 MK-1246 8.5 79.5 25 M6x10L M10x20L 84 98 76 47 15 50 50 76 4 M5x6L 9 PT3/8 12 165 M52x1.5 50 15 M8
>3 CR60 M-677 60 52 42 185E/4291 60 52 42 MK-1452 9 88 30 M6x7L M10x20L 93 110 86 47 15 55 55 85 4 M6x6L 7 PT3/812 184 M58x1.5 56 12 M8 ‘
; CR80 J-660 80 e 56 193E/H-47 80 e 56 MK-1775 17.5 99 30 M6x13L M10x20L 110 155 100 47 15 80 80 108 4 MEx10L 7 PTi/2 12 216 M84x2.0 81 18 M0 o
- REHAMEHMMER, BARITHEM Subject to technology changes without prior information REHEFERMMF, WARBITHEM Subject to technology changes without prior infarmation
AR RATETH Non-standard requirements can be made JEImERTEH Non-standard requirements can be made




& I < B8 %

DRAULIC CHUCK S

OMATEl

> M :‘,I Al 2 B1 - s
Vit === = I

M HIGH SPEED THROUGH-HOLE ol gs = = — - {0 f{ﬂ PEELE
ROTARY HYDRAULIC CYLINDER. ENCEI T 3 [ullecl € %18 9°°
O ONUER. REEGHES , BEM(MAX 95mmal) , KE i} :ﬁ?

Forwarder w1 / \.I_k \
i E1 / N \H
' ow \ F1

PT 1" 1 G1
(M0928 PT3/4") K1

(MAX 4.5kgi#8{L), =REEFNEEERE. EREEMENEE,
D BAMEBEAL: EMENERNEGES20%MEETL, AT{EMHN
BENFTESBTER.
O REWEE: BN AEFRSEDNEE,

-~ Compact and light weight :
Comparing with the regular product, itis compact (reduced to MAX

“ BstModel a1 B1 1 Ef F1 Gi Hl J KLU MIONPL Q1 RSt TIUT W1 X1 YT
95mm) and lighter (weighted MAX 4.5kg). It's more stable to reduce R Size
thelburdan st themaehineryat High spaed turig; M0928 9 108 25 BMGx10 6-M8x15 110 76 58 44 15 34 53 4 4AMT 5 PT14" 6 116 MMx15 32 15
O Tk Ao TE S aEi iR i 65 A5 aaas, i Fas b M1036 11 1205 25 6MSx10 6-MIOXI7 126 83 68 53 15 38 64 4 6MSx12 5 PT38" 6 136 M5 42 14
) ) , M1038 11 1205 25 6MSx10 6-MOxi7 126 83 68 53 15 40 64 4 6M5x12 5 PT38 6 136 Mx15 42 14
larger bore diameter for utilizing the capacity of machinery. M1236 11 1265 25 6-M6x12 12-M10x20 135 98 76 47 15 38 76 4 4-M5xi2 6 PT1/2" 6 169 M52x15 50 14
o The safety structure : It can retain the gripping force by check valve. M1246 11 1265 30 6-MBx12 12-M10x20 135 98 76 47 15 50 76 4 4-M5x12 6 PT1/2" 6 169 M52x15 50 14
M1546 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 50 85 4 4Mex12 7 PT12' 6 188 M58&x15 56 135
M1552 11 1335 30 B-Mex12 12-M10x20 145 110 86 47 15 55 85 4 4Mex12 7 PT12' 6 188 M58&15 56 135
M1868 175 1525 35 6-Mex12 12-Mi0x20 1665 155 101 47 15 70 108 4 4-Mexi2 7.5 PT12° 6 215 M842 81 125
M1870 175 1525 35 B-MEx12 12-M10x20 1665 155 101 47 15 75 108 4 4-Mexi2 75 PT1/2' 6 215 M84x2 81 125
EEEE BARAS mwimn siwmEs M1875 175 1525 35 6-Mex12 12-Mi0x20 1665 155 101 47 15 80 108 4 4-Mex12 75 PT12' 6 215 M84x2 81 125 O
gg; g:gif ii‘éit?? P?Etfcl;“ﬁﬂa Maiﬁl%'g%igjm Piston Max. oil ﬁgggﬁ g?m% wiéight ﬁﬁ: M1878 175 1525 35 6-Mexi2 12-M10x20 1665 155 101 47 20 82 108 4 4Mexi2 75 PT12' 6 215 M8&2 81 125
(mm) P”(g'r}‘fzp)““ P;ﬁ’(‘,‘?;;‘)" (mm)  MPa(Kgflem2) (kg) M2078 21 1665 35 6-Mex12 {2-Mi2xe4 182 165 10 47 20 84 120 4 4Mexd2 7 PT12° 6 240 MI®2 96 20 g
19.9(2029)/ M2085 21 1665 35 G-MEx12 12-Mi2x24 182 165 110 47 20 89 120 4 4Mexi2 7 PT12° 6 240 MI92 96 13
moess i i 18(1835) 10 40(408) 8000  0.006 55 3 M2091 21 1665 35 6Mexi2 12-Mi2e4 182 165 110 47 15 95 120 4 4Mextz 7 PT12' 6 240 M2 9% 13 >
M1036 105 71/68.5 2265((22655;9))’ 15 4.0(40.8) 8000 0.011 8.6 3 M2511 27 1845 45 BMexi2 12-Miex32 197 206 120 55 20 123 160 5 amexi2 7 PTA2" 6 204 1346 _ _l
r— — —— 32.(52(%54;)3/) 45 A ] — pr— — 5 M2511S 21 1695 45 p-Mexi2 12-Miex32 192 206 132 55 20 123 160 5 aMexiz 7 PT12° 6 204 1346 _ m
M1236 125 100/89 aaady 15 40(40.8) 7000 0.019 13 3 Fa Nl ol REN IKE i | | i (S SR el S R (S5 B B 0 ol et e S —
M1246 125 100/89 el 15 40(408) 7000  0.019 12 3 M0928 120 100 80 65 44 M5 28 25 63 4 5 76 9 165 151 14 4 B 25 3 5
e 155 161/ 154 S?.‘&LL%’J) . — 6200 0.056 . . M1036 136 115 100 65 48 M2x15 36 32 71 55 73 88 104 15 1745 15 0 39 24 25 5
T M1038 136 115 100 65 50 M44xi5 38 32 71 55 73 88 104 15 1745 15 0 39 24 25 5
Mi552 152 161/150 56(5710) 22 4.0 (408) 6200 0.052 16.8 8.9 M1236 155 130 100 80 65 M4x15 36 36 76 64 8 98 118 14 179 15 0 40 25 4 5 (o]
U M1868 180 198/197 775"(57(5_;,159’5’) 25 4.0 (40.8) 4700 0.098 28 42 M1246 155 130 100 80 65 Ms5x2 46 36 76 64 685 98 118 114 179 15 0 40 25 4 5 <
> E— 180 1987183 7;9({7564;36)),/ 25 —— 4700 0.005 265 uo M1546 190 170 130 85 65 Ms52 46 36 8 73 96 114 137 130 1905 22 0 475 255 35 5 -
O el M1552 190 170 130 85 70 MeOx2 52 36 8 73 9 114 137 130 1905 22 0 475 255 35 5 LLl
M1875 180 198/183 69(7036) 25 4.0(40.8) 4700 0.095 26 4.2 M1868 215 190 160 120 8 M752 68 36 95 98 121 140 165 159 225 25 0 5 25 3 5
m M1878 180 108/183 7519((775&565); 5 4.0 (40.8) 4700 0.095 25.5 42 M1870 215 190 160 120 95 M782 70 36 95 98 121 140 165 159 225 25 0 50 25 3 5 0
Sy S == o o 98(9993) / = 40 (408) — - o - M1875 215 190 160 120 95 M52 75 36 95 98 121 140 165 159 225 25 0 50 25 3 5 <
88(8973) : g M1878 215 190 160 120 95 Ms7x2 78 36 95 98 121 140 165 159 225 25 0 5 25 3 5
B 94(9585) / (a
o0 M2085 205 252/234 88(8973) 30 4.0 (40.8) 3800 0.15 37.5 4.5 M2078 240 215 180 140 110 M9ox2 78 36 104 108 138 158 182 177 248 23 0 Gz | &2 | & | B
o M2091 205 252 /234 Seeora) 30 40(40.8) 3800 0.15 37 45 M2085 240 215 180 140 110 Mm@ 85 36 104 108 138 158 182 177 248 30 O 5 25 3 5
! o ey sap/sss  124(12644)/ o 4o (s08) p o = s M2091 240 215 180 140 110 Miooxe 91 36 104 108 138 158 182 177 248 30 0 55 25 3 5
>0 112243(1122624346))/ M2511 310 275 230 166 140 Mi30x2 1175 36 101 148 178 190 232 215 200 24 1 8 15 3 6 E
= M25118 gz 348/336 120(12236) 23 4.0 (40.8) 2800 0.41 53 7 M2511S 310 275 230 166 140 Mi3me 1175 36 101 148 178 190 232 215 258 24 1 SHEEEREN NG oty
T REHEFEARHER, BABITHEE Subject to technology changes without prior information RBHEHERMMER, WA BITEM Subject to technology changes without prior information b
e E K AETH Non-standard requirements can be made JE#EFE K FETHM Non-standard requirements can be made




.
>
G)
m
0
<

A=

I3LVINO
H
=

B K HE A

DRAULIC CHUCK

QM ATEl

> ML-CM.B > CM.B SERIES

e e ) B A

77

HYDRAULIC CYLINDERS COOLANT
COLLECTORS

EXTRALARGE THROGH HOLE ROTAY

HYDRAULIC CYLINDER CAATRETERRERRHKEK,

o 2 ikEFBRERE.
© Hydraulic cylinders coolant collectors. Compact and light

weight, they feature bore sizes up to 20% large than
Conventional Cylinders.

CAERTFARFLEMEREER,
cfERAMHES S, BEEERFIRLEMANE,

O 3.RET I ERIEREEE NGRS, © Precision finished piston bores and cool running rotary
CABKEILME, HEEAERTERNLE, WS

o included for years of trouble-free performance.
O EMIEERARRRERLY,

© The proximity switches are extra option.

© Matching for large bore power chucks.

' Special aluminum alloy steel body, light weight for reducing the spindle loading.
~ Within check valves to maintain the thrust force.

© Extra large bore design, equipped with coolant collector and detective plate.
© The proximity switches and mounting bolts are extra option.

s

CM10BZ£436FL

g‘b

oE(HE
oD
oC
i
&

A
212 B j
w
Ly Fﬂvﬁrd r F
B 1
=] G1-1/% G1-1/4"
L= gr 4&, e D "
ko " i BE AT EE (k)
Model A B C D E E G H | min Matched cylinders Weight
HEHEME EEEH Eff.piston area cm® HETRE BAHIATHES MaxDBpull( kgf ) Bk {E FimE N EE
At I'-!'IstonDIa pistol SER - pull( kgf ekl gegﬁ ;I([EE Weight ﬁﬁl CM09B 85 67 33 70 105 565 i 5 24 M0928(H0928) 0.85
Model (mm) FE{A Push FI{Rl Pull (mm) HERIKN (kaf ) HEBIKN (kgf ) (kgffem? ) S g (ka) Loy CM10B 118 75 42 84 131 76 107 5 22 M1036(H1036) 1.6
ML2816CM28B 285 394 350 42 116.8(11910) 106.8(10584) 3.3(33.6) 2000 0.85 68 9 CM12B 118 87 42 84 131 76 107 5 23 m:gig::gzg; 176
ML3320CM33B 335 515.7 416.9 42 152.9(15591) 136.9(13960) 3.3(33.6) 1600 1.09 103 10
M1546(H1546)
CM15B8 118 98 42 84 131 76 107 5 255 M1552(H1552) 1.6
m1 363%&1363;
CM18B 158 123 44 88.5 151 96 147 5 23 1870(H1870 2
A \' \ W W M1875(H1875)
e C 2| = | i H J L R T U e |t | et | i A1 Bi F1 M1 M1878(H1878)
CM20B 158 140 44 88.5 151 96 147 5 23 M2085(H2085) 2.1
ML2816CM28B 335 280 240 190 M180x 3.0 166.5 140 382 260 279 41 -1 67 25 18 202 Mi16x32L 170 M2091(H2091)
ML3320CM33B 390 320 280 230 M215x3.0 205 147 392 260 292 41 -1 67 25 18 210 M20x32L 210 CM25B 198 177 45 90 180 118 192 12 35 M2511(H2511) 2.4
REHWES MR, BASBITHEM Subject to technology changes without prior information REHHELAORR, BAHTIEE Subject to technology changes without prior information
EEF K WET# Non-standard requirements can be made E4ZF K ARTH Non-standard requirements can be made

O
=
>
-]
Ll

PAGE 151

?

<
i

£

-




B K HE A

DRAULIC CHUCK S

QMATE

>MS SERIES

NON THROUGH HOLE ROTARY
HYDRAULIC CYLINDER (WITH VALVES)

> MS-C SERIES

R AW

‘[Bﬁﬁﬂ:ﬁao 2@&?%%30

NON THROUGH HOLE ROTARY HYDRAULIC
CYLINDER (WITH VALVES AND SWITCHES))

© 3&&%5&%%&%0

O fiiR#ES: HEH4.0MPa (40.8 kgf/cm2)
O Bk E: MEEA3.0MPa (30.6 kgf/lcm2)B  EF50° C

Built-in safety check valves. IFHE5ARE | #48BESS 16-329-E4-Y (BALLUFF) DC 12/24V 200mA NPN

REEHELMOHF, RFBITHEM Subject to technology changes without prior information
EEF K AT Non-standard requirements can be made

GEEHEXNET, BAS{TEM Subject to technology changes without prior information
EZFH R ART# Non-standard requirements can be made

© 1. IER ° Built—in safty check valves and detective plate.
© The proximity switches are extra option.
© Draw bar pull force : Pressure 4.0 MPa(40.8kgf/cm2)
. © Total leakage : Pressure 3.0 MPa(30.6kgf / cm2) and oil temperature 50C
3 K - ] ' Proximity switch : Model BESS 16-329-E4-Y (BALLUFF) DC 12/24V 200mA NPN
—
11 N
~PTave A:Bore ] )
x B:Stroke
2-M5X10 p p o B
| e bt
(‘)\s\ ) L . ! o O D
© o~ [
\ o : | HEERIE g - N S
s Af\ -] a“ ] =] =] - - J 1
% b 7z 5’»] : \NTa ' -
5 7 a L ) O
e i , ‘ g e EREEL
230 -M5X10 PT1/ I ) b | g
S, [ = | i =
e ' #4 | ( e e >
- R 0 o s |
A B & \'Q_ """"""""""
m
|
B2 A B3 ¢ D E F 6 H TR TR T Q R B la | Blle Dl e Fla b J K L M N P P Q A (s
Model max  min Model mite |
MS105 105 20 135 100 B0 30 21 M20x25 B85 197 108 89 152 45 55 e-Miox20 18 MS105C 105 20 135 100 80 30 21 M20x25 35 257 168 89 152 45 25 6-M10x20 158 23 46 (oap]
U MS125 156 25 160 130 110 35 25 M24x30 44 205 108 97 160 51 26 6-Mi2x24 166 MS125C 125 25 160 130 110 35 25 M24x3.0 44 265 168 97 160 51 26 6-M12x24 166 23 46 n
} MS150 150 30 190 130 110 45 31 M30x35 45 214 108 106 169 26 26 12-M12x24 175 MS125C 125 35 160 130 110 35 25 M24x3.0 44 269 168 101 164 57 22 6-Mi2x24 170 23 46 A
G) WEsa0 | Faoa aET aaeT e hiee ) Ee ] e Diae s o0 iee) ass) ita) a0 Fiaa) ian ad Fielifie a0 ige MS150C 150 30 190 130 110 45 31 M30x35 45 274 168 106 169 56 26 12-M12x24 175 23 46 LLl
T MS200C 200 35 245 145 120 55 37 M36x40 60 288 166 120 183 69 34 12-M16x30 189 28 46 0
TEEETER Eff.piston area cm® JAFIFER AEEITHE R i B i 8 1Bt 3
— B MaxDBpull( kgf ) Piston stroke £ 5 Aol Max oil pressure  Total Leakage Weight
i BAAATHE T =17 £ A B ) EE Model ; Max R.P.M : i kg-m2
(&) Mﬁztl AEHB Eff.piston area cm Max DB pull( kgf ) P%ongr:%e ﬁﬁlﬁ?iﬁ Max oil pressure ﬁml) Itl!imﬁé Weight oce $&4 Push fIfIPul  Fflpull KN (kgf ) (mm) ax ( kgt/em® ) (V/min ) (kg) 0.
N odel  Jf{ll Push Frffl Pl fiElpull KN (kgf)  (mm) ERelabFt ( kgffem’) il 9 (kg) MS105C 84 79 29(2957) 20 6000 4.0(40.8) 08 0.0125 7.6
o MS105 86 79 29(2957) 20 6000 4.0(40.8) 0.8 0.0125 7.1 MS125C 120 113 42(4283) 25 6000 4.0(40.8) 0.8 0.022 10.5
gﬂ MS125 122 113 42(4283) 25 6000 4.0(40.8) 0.8 0.0225 10 MS125C 120 113 42(4283) 35 6000 4.0(40.8) 0.8 0.022 10.5 "
»>I0 MS150 176 160 60(6118) 30 5500 4.0(40.8) 0.8 0.0475 135 MS150C 174 160 60(6118) 30 5500 4.0(40.8) 0.8 0.047 14 &'
; MS200 314 290 108(11013) 35 5500 4.0(40.8) 0.8 0.0975 22 MS200C 312 290 108(11013) 35 5500 4.0(40.8) 0.8 0.097 225 e

-




& I < B8 %

DRAULIC CHUCK

oMiXTEl

> MS250C/MS300C SERIES >MH SERIES
WU TTE ey /88 5T

NON THROUGH-HOLE ROTARY HYDRAULIC CYLINDER
(VALVE AND SWITCH BRACKETS INCLUDED)

NON THROUGH HOLE ROTARY
HYDRAULIC CYLINDER

o1EE. KB, B LhBREIRKASHENN, B
BEzHs, THRERSET@ME 8%,

CBREH: HhEREZFERGREREER, TS
HENE I T E EE:

CHTREMAZHEMHHEEHEEZRAEBENT
*, ARFALHEZSE®.

© MH125FEMH150FREHEN, EFRERFH

= Compact, low inertia, light weight cylinder :Manufactured by
aluminium alloy, this cylinder is light weight design to reduce
the loading of spindle.

' High speed :This balanced design cylinder is light weight,
compact and maintains outstanding stability during high speed
operation.

- Long life :High quality cylinder seals and high accuracy surface
finish on components to ensure the long life of these cylinders.

© MH125F and MH150F is back mounting type, easy to mount or
dismount.

N BEFEALTMERESEEMFIZE. $AREMEE,
C2 AR R R K,
o3MzeFILEERHEE GERFARASE) -

' Through-hole for coolant, oil or air with thread for rotary unit.

© Mounting from the rear or front side.

© Built-in safety check valves and bracket for proximity switch.
(The proximity switches are extra option.)

12 N

L E

B w O
t O ofu

LM16*P15

D2

O
=
>
-]
Ll

PT1/2"
R 1
: ; PT N2’ /// il B ettt iyl F o
DRAIN Port / - J
2-PT' N1” ;/ LIPS P H
Pressure Port K J G
MS300C
X A = G
B D = : H J K 1= M N1 N2 P R T L)
e e ELE R e H kL om | NGB R el e R T Model 1.D. (n7) max _min B 1
-U odel (h7) max min m
MH80 80 115 90 65 25 45 30 6 735 103 M8x12516 M16x2.0x32 3/8” 1/4" 45 155 305 38 13
> MS250C 300 275 220 160 65 62 44 M42x3.0 60 356 267 177 220 85 25 6-@17 6-M20 226 160 100 155 100 80 25 — " - —
MS300C 355 330 270 210 75 70 50 M48x30 70 359 270 182 223 85 25 12-@17 12-M20 229 165 Ll | e RR e fee | TMa o e et osl e e R e 20 B R
() MHi25F) 125 160 130 110 30 51 26 6 955 103 M12x17518 M20x2.5x32 3/8" 1/4" 45 155 305 38 13 LL
m MH150(F) 150 190 130 110 45 50 20 6 107 103 M12x1.7520 M30x3.5x35 3/8" 1/4" 45 155 305 38 13 (D
it i T Fiith R £
EE P‘E%r?[}% : FEIETER Eff.piston area cm SXH#HESD Max DB pull ( kgt ) Pigongfke EE #a;tglpigss 'j?a @it ?E% e ) <
— Model (mm) #48 Push Hfil Pull FERIKN (kgf ) HECBIKN (kgf ) (i R ( kgffem? ) (Vmin) kg-m2 “gq) kR TEEEE Eff.piston area cm’ BAHAFHEN T BEEE &R ERimES i R
(&) ] Model Max DB pull Piston stroke il i Max oil pressure e iz Weight n_
'S MS250C 250 481.5 453.6 207(23147)  214(21822) 60 2000 50 2 o087 78 OUS #fl Push #Lff Pull (kgf) (mm) Az ( kgficm® ) (kg)
MS300C 300 697.5 658.6 262(26716)  247(25186) 60 1500 40.8 3 1.60 106 MH80 47.7 42.8 13.9 (1417 ) 15 6000 35 0.005 5.1
g% O HAFHE S : 3B 4.0 Mpa (40.8kgf/em’) MH100 75.4 70.5 22.9 (2335) 20 5500 35 0.0125 6.6
© #aiE . HEAN3.0 Mpa (30.6kgi/em’) R iR 50T
>1i O iR {EBIET: $MBESS 16-329-E4-Y (BALLUFF)DC 12/24V 200mA NPN MH125(F) 121.1 114 37 (3773) 25 5500 35 0.02 8.4 a
— MH150(F) 176 160 60 (6118) 30 4000 40 0.047 10.4 oty
m
— REHME MR, MAS{TEM Subject to technology changes without prior information REAKAELMMF, RFRBITEA Subject to technology changes without prior information
AERFRTET M Non-standard requirements can be made FEHEE K AT Non-standard requirements can be made




KTEL D
0 M I DRAULIC CHUCK S
>HB4 SERIES >F52 SERIES

BORING MILL JAWS

HIGH SPEED AND LIGH WEIGHT
TYPE STRONG FINGER CHUCK FOR
ALUMINUM WHEELS

C1EATERER, TRERK, EEERIIEYETE.
O 2.9 E—4HBRTE R
© Clamping of workpiece for larger size lathe, vertical

lathe, die set with jig.
© One set of 4-piece with T-bolt.

O 1.FoRAlRERE RER ARG THME, MEFHEARERLR
MEEE, WERAEHERMAE,
O 2 BAWHEEREHFADIN,BS,ISO,ASA,B5-9, AR TEhiRiE

© All sliding surfaces are hardened and ground for accurate actual
running and long service repeatability.

H B4—1 60 *E*g i Strok? © Mounting : Adaptor mounting to fit with DIN, ISO, BS, ASA, B5-9

= 4-Mm2 type A spindles.
]ﬁ]ﬁ 7 [

+EZEFT#2Piston stroke (mm ) 50

= . ! ,\
5§51 Clamping force (KN) | 39.2 i H 7 !il 5
= N L. HH =)
EEWeight (kg) 29 IJ__‘;éli—llj__‘g| IJ_% ’&% i Bl
145 < n =1 —
225 | 125 T,
21070 70 170 g
HB4-189 #1: s : v
” [~ M50xP15 o N >
F+E2E4TFEPiston stroke ( mm ) 50 4 4-M2 - \ = %
FekJ) Clamping force ( KN ) 39.2 gl | (@Dl f@] I Al o tﬁl o 2 c— = m
I I I ! - A (] -] -] Y S O oo P 1
. l X I ! | I I : l @ I | l “ 2 = o s 8 ] —— —
FRWeight (kg ) 31 T i | 8 g =
g [ —— |J7:J_| &% : 3 .
£) | e i ey PO =
= . T
3 s 5
F
> 165 170 Max.90
G) H B4—2 P iﬁﬂi‘ﬁ . 2:M20 i[ﬂfooke 90 60 _Min. 55 151 (u;
m g
N JiT#8Jaws stroke (mm) 50 I‘=‘§}|—_j i | ehizn <
. ]
o) wA T IMax Force(kN) | 39.2 = [TEm T & = gm o
<) ! 3
it l 5
om ERWeight(ko) 2 0 =t = ot EAWERY  RESNME(mm) BATMER  sEA(ko) BEOWE EE (FELHRA)K) E&HEE
= = H RN * 2] Model  Suitablewheelsize OutDia. Of Chuck ~ Spindle nose Clampingforce  Max R.P.M Weight (without Jigs)  Maiched cylinders ﬂ
e AL {1 1] v
>0 Myl MAtehel.IRve ks s T X&j" o =& F52A8 12" =18" 521 A2-8 3300 2800(18" 2200) 98 MS200C -
; 225 : 125 L—-'I A 3

FREBHEAERAMT, BASBITEM Subject to technology changes without prior information
FRBEAELOER, MABITEM Subject to technology changes without prior information TR AET4 Non-standard requirements can be made
JEEFE K FRI# Non-standard requirements can be made




pﬂf KB 5

O M I DRAULIC CHUCK S
>F61 SERIES >F66 SERIES
/ . Wy

HIGH SPEED AND LIGH WEIGHT HIGH SPEED AND LIGH WEIGHT
TYPE STRONG FINGER CHUCK FOR TYPE STRONG FINGER CHUCK FOR

ALUMINUM WHEELS ALUMINUM WHEELS

O 1.FeRRIBHBBRERASHSESNHYE, REESE
MEXHMELEHERE, NESEESERHAKE,

DL FBIERRERFARASASEHEME, MARHEERAELR

TERIE, LIRS e R At DR EAHEEREHFADIN,BS,ISO,ASA,B5-9,
O 2 RABEBRENHADINBS,ISOASAB5 9, AR THiEH ARZ THRE,
© All sliding surfaces are hardened and ground for
= All sliding surfaces are hardened and ground for accurate actual accurate actual running and long service repeatability.
running and long service repeatability. © Mounting : Adaptor mounting to fit with DIN, 1SO,
’ Mounting : Adaptor mounting to fit with DIN, 1ISO, BS, ASA, B5-9 BS, ASA, B5-9 type A spindles.

type A spindles.

R— o >
% M50xP15 &
M50xP15 3
X ik
- I 2 ~| | o - 3 m
w Al o o - @~ _—— s
€ | Klw|lo ol g~ 3|9 = % —
IR = 2|5 | % S B ; =
= v b= 7* ——-T‘%E_
=T = 0
50
U, el 5o o
U - = Tp
> Bl = F
m Mings | 151 | (O)
-— Mﬁ\xgg 151 <
($) o
(o)
om Wt EAMERY KFME (mm) EATHAE SEake)  ssmes SR ITEERR) - wsmEa X EAWERY  EENME(mm) EAEMAR  mpake)  EsEws S (GESRR) mawmEa
= Model Suitablewheelsize OutDia. Of Chuck Spindle nose Clampingforce  max r.p.m (kg) Matched cylinders Model  Suitable wheelsize Out Dia. Of Chuck ~ Spindle nose  Clamping force max r.p.m (kg) Matched cylinders "
E"JT!E F61A8 13" -22" 610 A2-8 3300 1500 145 MS200C FB6A8 19" -24" 660 A2-8 3300 1500 182 MS200C w&r_ ‘
m REGHEMNMER, BFSBITEM Subject to technology changes without prior information FREBHFEMMER, BFSITIEM Subject to technology changes without prior information
—_— AR E K ATAT M Non-standard requirements can be made JEEE K ATETH Non-standard requirements can be made




B KB A

DRAULIC CHUCK S

OMATEl

>BL SERIES > DR SERIES

WPy
//;}/4//,/;;’”}/;}/{/[%7/”% 3-JAW BALL SWING LOCK CHUCK :

CAASIAMTMARFNERKSF  RIEMREE ST mIER
W Bt T ot 5 A T ) 7 i B b MR R T e A AR

O 2 AT AN TE i B2 PO 1 B R 4T ol i BARAE AT R SR DD AME SRR A AR T HE

O 3 ARFER M AERTHREAFAEEMENTRNANRBRE
TEL A0 T4 Je 5 R 43 VT 4 B BU4E 0 T F 47 (R K R e 45 2120 2HE )

© 4 T T 54 52 98 0 JTCER AT 4k BR AR AR R B A sE PR E T g (B U

ey
////[2/‘//’/;///2;/'/,,%//’//’/2 3-JAW DRAW DOWN POWER CHUCK

D1 ERXmB R SR R ERRE AR, BRATHERBENMNT,
oA TERMERSER L, #REEE, ETEDH.

o 3.EHEBEEEE, TREER, HHERAEERFNESHEE.

D AEWHBETORBARFE TS LIFHYE, EXREFENNIRER.

Draw down power chuck feature of radial clamping will lead to almost no work

KA ELEIS?) ' 7. piece uplifting displacement; for machining casting and forging part:
O EEEENPBRESAREAEE —RREAREEEFIEEHB TS © Forthe clamped work-piece is appressed to the surface, chucks are suitable for
SR EHE B (lock arm) MARGHHE, THLERMEBA, . NeEymAchining:

Chuck Actuators with cylindrical structure are durable and ensures high clamping
repeatability.

© Accurate self-centering and pull back features are adequate or precise length
control machining requirements.

The chuck can attract the workpiece and hold it on.

= The jaw operates in two stages :Clamping pull back, so it can hold the workpiece exactly on the position
in front of the chuck, and make it under the stable situation.

© The chuck can grasp the workpiece on both O.D. and |.D. clamping.

o The chuck can switch between O.D. and |.D. clamping mode by a simple operation.

© The chuck can grasp the part of the taper. The chuck can exactly grasp the black surface of the castirons,
which has draft.

= 8o the discard process can be ignored on the chucking part of the workpiece. (It can grasp up to a 20 degree

taper when using a clipper.)

© The jaw can equalize on the O.D. clamping, so it can grasp the workpiece steady. (Jaw self-equalizingtomax 5°) s P
~ Dustproof performance is excellent. It is differ from regular general purpose chuck. Itis structurally dustproof. W\
Especially there is a dustproof seal in the part of lock arm to prevent the dust. = O
AN| -
S5 SR e
e 069 57.1 ¥ | 1| = g
- - &
. = [l J oL P >
_ﬂ— &
T3 ==t —
x. ¥ g
tn.:lh;.\i L / m
35 —@%— —
. L x/ Jiu
o
i = =
ol o % ¥ |
3 &l 2 I w
al o 9 I <
' = Z Bt e TOERE giswes BAKES  BAEAMEN 58 EOHMEE aann  SMEREHE
= = : ; My BBEME gy [BILE EEEN  Clamp =
R, ] Modsl “(mm GRS Tkhikan Veceippore MRS wenew G iome SIS weowsho SRRSO )
> ﬁ DR-06 10 7.2 15(1530) 25(2549) 2.1(21.4) 3500 15 0.05 MS105C DR06-HC ©35-0165 =
(— DR-08 10 7.2 25(2590) 45(4589) 2.5(25.5) 3000 25 0.14 MS125C DR08-HC ®40-9210 III
G) il DR-10 16 11.6 35(3569) 60(6118) 3.3(34) 2500 49.2 0.4 MS125C DR10-HC ®©50-0254
m a6/ DR-12 16 11.6 44(4480) 71(7240) 3.3(34) 2000 79.7 0.6 MS150C DR12-HC ©50-0304 (D
- <
105
(@p] B3t N N P P Q Q X X (a
o Modet A B € H J KM pax Min Max Mn Max min S T U WI W2 oy mMin VI V2 V3
O mst HETE TR BAHAHES BAMIIES 1B 4 A ) BEONE HE e A A DR-06 165 85 140 10478 16 &Mi0 5 58 54.4 33 23 14 4 36 35 Mi620 32 335 45 35 35 20 M6*12
Piston stroke  Jaw stroke dia Max DB pull Max. Gripping Force Max oil pressure Weight Varas Matched
= Model  (mm) (mm) KN(kgf) KN(kgf) (kafiom | Ma xRN Kg) g:m cylinders DR-08 210 90 170 13335 15 &Mi2 5 713 67.7 88 28 15 5 86 40 M2025 37 42 56 46 45 25 M8*16 "
f"ﬂ BL-12 17.5 12.4 40.7(4152)  122(12440) 2.8(28.5) 2800 65 0.18 MS150C DR-10 254 110 220 1714 24 6Mi6 5 878 82 48 32 22 6 46 50 M24*3 50 55 68 52 55 30 M8*16 ""f':_‘
m DR-—12 304 125 220 1714 20 &M16 5 1028 97 47 831 21,5/ 55 50 60 M27'3| 52 57 725 56.5 65|35 M8*'16

REHHELWER, BASITEM Subject to technology changes without prior information
EEERKET#M Non-standard requirements can be made REHFELHMEF, BAS{TEA Subject to technology changes without prior information
ERE R ATRT#M Non-standard requirements can be made




O ]

> P165 SERIES
7 ~/r—//4[’//[:/{//‘///7/_/_// C1EATEERBRIME—RMI,
///I}///I;//C&/I(Ij'yl/»'};;;//% Suitable for easy one step cutting of thin

hores, plate and outside diameter.

FLOATING PLATE CENTER CHUCK

[=
+ r Max.77
= ______I___ﬂ_ Min.42
A _ >
o K
gz | J .
8 © o‘l
= % :n Miax.w405 R . .
o I I :
: L
JA =
T .
Rt EE TR B fE FAimE A BEEE =& 18 1 46 HimEE
Max oil pressure Weight kg«m2 Matched
Model (mm) (kgffem ) Max R.P.M (kg) cylinders
P165 35 1.0 (10) 6000 18.5 0.02 MF125C

REFHBH AR, BABITEM Subject to technology changes without prior information
R K AT Non-standard requirements can be made

> HN SERIES

%‘I(’ {4]{1’{{{}%’/]/4"{[2{1 . {’Z’{;{{{/{{I, 2er N ﬂ}'@gﬁ.ﬁoﬂz FASAB5.9 AR T 8
Z//}%;ﬁ‘i f’%%/ //7/////// /////: e ffwﬁ;ﬁja;%m BEASMAE, A

1. BB EEEATET10, 000r.p.m,

ARBEOEREEL R HERE, 1

=B RIS R A .
3-JAW EXTRAHIGH SPEED THROUGH-HOLE SRR
POWER CHUCK (ADAPTER |NC|_UDED) GRIPPING CHARACTERISTIC GRAPH

8000 T D
Possible 10,000 r.p.m. highest speed chuck. ™
Model HN chucks are assembled with adaptor for ASA B5.9 type 1%’ 6000
A spindles. ié =2
Model HN chucks are manufactured form high grade alloy steel. 7 E 4000
All sliding surfaces are hardened and ground for accurate actual §
running and long service repeatability. 2000

0

0 2000 4000 6000 8000 10000

Rotation speed(r.p.m)

BEFLEIE T TiTEEE RXLFESD 10 4 P [ ) EE WEHMEE  ESEM  SMEISER
2 Through hole dia piﬁfgﬁm Jaw stroke dia Max DB pull !Kj;yfgfﬁ Max oil pressure m%‘?ﬁ Weight kﬁﬁnﬁg Matched  Matched Clamping range
Model " mm) (mm) (mm) KN(kgf) (kah " kgtem ) A cylinders  HC (mm)

HN-06 $36 12 5.5 30(3050) 79.4(8100)  2.9(30) 10000 11.5 0.035 HG-1336 Model-A ¢ 14-¢ 51

—
>
G
-
=
o
N

S

>3]

L

REHEHELMNRER, BABITEM Subject to technology changes without prior information
JE#ZFHE K ATET#M Non-standard requirements can be made




